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Wireless technology requires Spectrum – licenced by governments – limits the 
number of innovators – Need for coordination to achieve critical mass – GSM was a 
great success at that – but leads to innovation by committee.

The introduction of the Industrial Scientific & Medical (ISM) band loosened things up 
a bit – led to 802.11, Bluetooth – innovations starting to appear in products – 802.11 
radio set. Software and Cognitive Radio will loosen things up further.
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Scenario shows a consumer looking at video content on YouTube  or engaging in 
some other service that involves advertising.  Small amounts of cash flow to the 
connectivity provider, and possibly to the web site operator. If the user is presented 
with an ad for a hig- cost item like a flight, this causes a large financial transfer 
where everyone except the connectivity provider (who takes the resource hit) does 
well.
Leads to argument for non-Net Neutrality or (in the extreme case) dedicated
last-mile networks

10



11



12



13



14



15



16



17



18


